


























Page  13       

13. Front End Assembly 
HW G

From Front Camber Link

King Pin Collar V2
XP-10401

King Pin V2 
XP-10401

Flanged King Pin Collar

King Pin

Composite Body Support Brace

Composite Body Support Brace

King Pin

Composite Body Support Brace
XP-10819

Composite Body Support Base - Left
XP-10819

Composite Body Support Base - Left

Flanged King Pin Collar

Composite Body Support Base 
Right

Composite Body Support Base - Right
XP-10819

4.8mm Ball End 
8mm Thread

www.rc-xpress.com

5mm8mm

18mm

4.8mm Ball End 
8mm Thread

From Front Camber Link

5mm8mm

18mm

M2 x 6mm Round Head Screw

Hex Set Screw M3 x 3mm

Hex Set Screw M3 x 3mm

M2 x 6mm Round Head Screw

Hex Screw Round Head M2 x 6mm
XP-40100

Set Screw M3 x 3mm
XP-40052






























	XQ1SV2 Manual_A0_OL
	XQ1SV2 Manual_A1_OL
	XQ1SV2 Manual_A2_OL
	XQ1SV2 Manual_A3_OL
	XQ1SV2 Manual_A4_OL
	XQ1SV2 Manual_A5_OL
	XQ1SV2 Manual_A6_OL
	XQ1SV2 Manual_A7_OL
	XQ1SV2 Manual_A8_OL
	XQ1SV2 Manual_A9_OL
	XQ1SV2 Manual_B10_OL
	XQ1SV2 Manual_B11_OL
	XQ1SV2 Manual_B12_OL
	XQ1SV2 Manual_B13_OL
	XQ1SV2 Manual_B14_OL
	XQ1SV2 Manual_B15_OL
	XQ1SV2 Manual_B16_OL
	XQ1SV2 Manual_B17_OL
	XQ1SV2 Manual_B18_OL
	XQ1SV2 Manual_B19_OL
	XQ1SV2 Manual_C20_OL
	XQ1SV2 Manual_C21_OL
	XQ1SV2 Manual_C22_OL
	XQ1SV2 Manual_C23_OL
	XQ1SV2 Manual_C24_OL
	XQ1SV2 Manual_C25_OL
	XQ1SV2 Manual_C26_OL
	XQ1SV2 Manual_C27_OL

